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GUJARAT TECHNOLOGICAL UNIVERSITY
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Subject Code: 351905 Date: 06-12-2014
Subject Name: Estimating, Costing & Contracting
Time: 10:30 am - 01:00 pm Total Marks: 70

Instructions:
Attempt any five questions.

Make suitable assumptions wherever necessary.
Figures to the right indicate full marks.

English version is considered to be Authentic.
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Define cost estimating. Explain the importance of cost estimating in industry.
Show the elements of selling & catalogue price by block diagram.

The catalogue price of refrigerator is Rs. 16000 /- & 10% discount given to
distributor. Administrative overhead is 1/3 of factory overhead. Sales &
distribution overhead is ¥ of factory overhead. If direct material cost, direct
labor cost and factory overhead is in the ratio of 2:1:3. Then find the profit of
company per unit. Take factory over head is Rs. 3600/-.
Define overhead cost. List the different methods of overhead allocation and
explain anyone method.

OR
What is depreciation? Explain “straight line” method of depreciation.

Define Budget and state the objectives of Budget.

A cylindrical boiler 2.5m height & 1.2m diameter is made from 15mm thick
plate. Circular ends & cylindrical length is welded. Welding is to be done both
inside & outside. Find the cost of arc welding from the data given below.

Welding speed = 2.5 m/hr outside Labor cost = 15 Rs/hr

Welding speed = 2 m/hr  inside Use of power = 4kwh/m weld

Use of electrode = 1.5 m/meter weld  Cost of power = 4 Rs/kwh

Wasted electrode= 5% of used electrode Wasted time = 5% of weld time
Cost of electrode = 15Rs/meter Overhead cost = 2times of labor cost

OR
Explain the prcedure to calculate total cost of gas welding.
Explain the loses occur during forging process.

Explain sheet metal operations.
Estimate the time required to drill 4 holes of 1c.m. diameter & 2c.m. depth.
If cutting speed is 15 meter/min. & feed is 0.01c.m. /revolution.

OR
What is pattern allowance? Explain different pattern allowances.
A company has fixed cost of Rs.60, 000/-. The selling price of product is Rs.
30 per unit and variable cost is Rs. 20 per unit. Production of the company is
15,000 units then find the total profit.

Why factory has to earn profit? Explain the procedures to increase profit.
Find the cost of finished cast iron block shown in fig.(B). Material lost in

different process is 25%. If density of material is 7.5gms./cm? and rate is
30Rs/kg.
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OR

Write types of contract and general conditions of contract.

Find the time for surface finish of a job 20cmx20cm size on shaping machine
in two cut. If cutting speed is 10meter/min. and feed 0.06mm/stroke.
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